CE 371.01 – Structural Analysis I 
Homework #6
due 24 October 2008, Friday, 8:30am

A. Reading assignment: 
1. Read Chapter 8 Section 8-5, “Conjugate-beam method”.
B. Problem assignments:
24. Using the moment-area theorems, determine the slope at point B and the deflection at point C.  E and I are constant over the length of the member.  Assume that the support at A is a roller and the support at B is a pin.
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25. Using the moment-area theorems, determine the slope just to the left and just to the right of the hinge at B. Also determine the deflection at D.  Assume the beam is fixed at A and that C is a roller. E and I are constant over the length of the structure. 
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26. Use the moment-are theorems and determine the value of a so that the slope at A is equal to zero. EI is constant. 
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27. Using the moment-area theorems, determine the horizontal and vertical components of displacement at C.  Let E = 29,000 ksi and I = 80 in4 for each member. 
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28. Using the moment-area theorems, determine the slope at A and the deflection of B. The moment of inertia for each member is indicated in the figure, and E = 29,000 ksi. Assume A is a roller support and D is a pin support.
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